[image: image1.png]7. Let X be the thickness of a certain coin, regulations stipulate that the
coin should be 2.4mm thick. Ten coins were selected at random, just after
minting, and their thicknesses measured. The values are below:

2,55 2.5 2.55 2.6 2.45 2.55 2.6 2.3 24 2.65
Does this sample give evidence, at the 5% significance level, for there being
a breach of the regulations.




(Hypothesis Test, please use t-Test or Chi Square method. Please use Excel to solve this and provide the evidence of your work.)

